Name: Order of operations e.g. 47 x 8 + 24 x 6 (Skill 82)
Order of operations (e.g. 47 x 8 + 24 x 6)

1) 58x2+80x5= 11) 83x5+41x 5=
2) 95x9+70x4= 12) 97 x 8 +29x 5 =
3) 26x5+54x1= 13) 92x9+45x 2=
4) 35x2+44x4= 14) 45 x 8+ 63 x 7 =
5) 29x3+71x6= 15) 67 x3+79x 2=
6) 96 x5+42x4= 16) 82x1+64x1=
7) 9x4+34x1= 17) 45x 9+ 13 x 2 =
8) 44x4+31x5= 18) 68 x4 +84x 1=
99 68x4+25x1= 19) 53 x3+74x 1=
10) 91 x2+89x 2 = 20) 48 x4+19x9=

Answers, fold under: Mark your work when you have finished.

1) 516 6) 648 11) 620 16) 146
2) 1135 7) 430 12) 921 17) 431
3) 184 8) 331 13) 918 18) 356
4) 246 9) 297 14) 801 19) 233
5) 513 10) 360 15) 359 20) 363
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